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IMPORTANT NOTES

et e

(A) Please fill up the OMR Sheet of this Question-Answer Booklet praperly before answering.
T R § B & S A g4 30 T 3 0., O 6 Vel TR @ T |

(B) The question paper is divided into different unit and parts. The number of questions to be attempted and their
marks are indicated in each unit and parts.
woA-aA fafirs gfve o wmit d foofeg & 1 v g w9 @ R S aret sl @ den Hit % 3 39
Iz wa i | sifea R e E

(C) Attempt answers either in Hindi or English. not in both. For Language Papers, answer in concerned language
and script, unless directed otherwise to write in Hindi or English specifically.
FaT ol 7 = w7 | et o | R, 991§ 9 | o faoaes sl @ I 3 dag | fafy A @
feu =, <1 o f v fomiw & forq orem & Rt st d s R S fom 3 femr man &1 )

(D)  The candidates should not write the answers beyond the prescribed fimit of words; failing this, marks will be deducted,
spafl it a1e I Pt west @ S @ s @ e i ) e Sooe SR W SE wE SR

(E) Please write answers only in the prescribed space of booklet. Do not write any mark of identity inside the Answer
Script (including Paper for rough work) i.e. name, address, telephone number, Name of God etc. or any irrelevant
wards other than the answer of question. Such act will be treated as unfzir means. The Commission may also
deduct 5 marks from the marks obtained, if Roll Number is not filled correctly on the Q.M.R. Sheet.
ot oft e a0 S e Qi o e v wd e | e e (o % T o) & sfer 9 W oft o A,
I R ST 3 S TAH (9T T - N T A, T, TG e, Taial & Am Iear 3 s ot new ¥ s
T, 9 GF 3 3 A Tl ) O R W T B ) orife W T 9 R AFT ST | SIUR.S T T A
TR o S W AT 5 I i 4 ¥ 5 ARt wwam ¥

{F)  Candidates are directed that they should not write (answer) out side the border line in every page. Answer written
out side the border line will not be checked by the Examiner.
Frafergt it FRfe fan st & 6 weAes e & v 7o | 99 T ardt o @ 9t W T8 o | e
FET % T fAE TR I B wher g iren @ s |

{G) I there is any sort of ambiguity/mistake either of printing or factual nature then out of Hindi and English version
of the question, the English version will be treated as standard.
Ife Tt wem F Forelt sy @t @1 TR @ weers TR A FiE @ @t v & R den stisht woret § |/ e
T A &

(H) The Question-Answer Booklet is provided in a sealed envelope to the candidate. Candidate must sign the
declaration as per directions printed on the envelope and return it to the invigilator.
aneft St WA g deas e | wem 9 T € enad R ar siftea P @) wgew won @ wemen
A ST SH IR R g WY

(I)  Candidate should fill up all desired details on this attached OMR shecet of Question-Answer Booklet with blue
ball point pen. Please ensure that this OMR Sheet is not torn or damaged.
aqwzﬁwwg;r F FR Ao W ATIAR. oFF W I Fifew fagror it @ier 07 F WraurigEs ¥ | e
7@ 6 9 H1.00.AR. T FE1 @ w0 T e R sit v | eferra e @

(J)  This OMR Sheet consists of Twe parts. in which some infornation is pre-printed; remaining details have to be
filled by the candidate.
7E ORI, T <t wr A der €, Fred swfava gead e € 1 e oft spadft e R E

(K} If the Question-Answer Booklet is torn or not printed properly, bring it to notice of invigilator and change the
Question-Answer bookliet, otherwise the candidate will be tiable for that.
3 g g w8 ¥ FARA 1 afea €, @ ST % we F o & oo 3] geeer @, s suw ofae
et 3 g |

farste =ie

Fhgell g A YT, T W e gE ol e § 1 39 el wew @ e whend i & o 3w W R veR @

Tear e sife fen s &, st g wqot wdien g snafemn P @ o wa ot e fw et gever @

Special Notes :

If there is any wrong information filled by the candidate or any attempt is made to damage it or any marking as identification

is done, then his candidature for the entire examination shall be rejected by the commission, for which he witl be liable.
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PAPER - Il GENERAL STUDIES & GENERAL KNOWLEDGE

A

Paper-II 5 { ‘I

(Total 200 Marks)
(Total 43 Questions)
Unit-1 (65 Mar!(s)
@Fe -1 (65 37)
Part- A Marks : 20
1 % : 20
Note : Attempt all questions. Answer the following questions in 15 words each. Each question

carries 2 marks.

| T U F I | P e B FRIS-15 TR 0 T | Ul UvT % 2 ofs Fwifa € )

1. Find the number of 5°s in the following number chain such that sum of two digits before

it ig not greater than the sum of two digits that follows it.
(%?5876521505@503]
@ v 5 € o S 3t 3BT AT Ik 3 A% % &l iehi
e e o o %ﬁ/é@;ﬂ

& I § SfuE T 82
245935876521505”03
Tawne (2 = Qs 93 , 03¢ 068

2. A particle can complete a circular round in one minute, but it moves half round
clockwise and one-third round anticlockwise successively. Find the time in which the
particle will complete one round.

TS HUT T DR Teh Ueb [ o QU T Hafl & U] 96 ShITHI STE1 5k uel i fom oo o
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| Paper-11 6
| 3. Find the smallest integer greater than 1 which is simultaneously a square and a cube of
certain integers.
1 @ It o BIE ¥ i qils a Hifd it 0F T {61 Hiqaa quifst & o J 61 8 |
é
:’ T™e Synalind IQAW_UQ 4
i ¢ 2uone & ¢ s rﬁt
N 9
4.  Inaright angle triangle ABC, right angled at B, prove that

(AB)® + (BC)® < (AC)}

T FEhT S ABC ® 101 B Iusn ¥ | fag wifad fe

(AB)® + (BC)® < (AC)?

A P ’\'\)Qf Qny Thasveny 1n o
\\ N M 0 -
E X O REGe = 3Cm € Bibes QCm
By P P Ch G Rl
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6. IfAB and C are three sets such that none is a subset of other. Use the Venn Diagram to

find (A - C) " (C - B)
T A, Bacﬁﬁﬁﬁm%%aﬁé%ﬂgﬁuﬂswgwqqﬁ% | A SR T 3YGRT H

(A-C)n(C - B)amaﬁfam
C

=~
0l
T A-eoNE A

7 lf“SHﬁ%TI s coded a((A%8] A4B09, “FORUM” is coded as 6ASABEIA in a certain

code language, then how wrlf“BUILD” be coded in the same language ?
gix g ffvea g2 9w § “SHANTI” % A981A4B09 fer@r smar &, “FORUM” @i

6AS5A8BI1A3 feran s € & 35t $2 wmr § “BUILD” &t a feran < 9

S HANT] /‘memmum
PN A AN A cusitlen ol 1 @2
A9 @ 9 a4y Bo ()
(13 (1) (201
) !u)a‘H-en
b &y P

2 81 S a0 Ul
MOILD = Q819820 Ars

8.  Find the area of the shaded portion in the following figure.
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9.  In an examination il is required to get 36% of maximum marks to pass. A student got 94
marks and was declared fail by 14 marks. Calculate the maximum marks.

Tt uden o IO @13 & fore sifussam i &1 36% I avasal & | U faenel @t 94
3 W 2 £ 3T 3/ 14 S ¥ vt wifyd e e s € 1 sifusan sl H o
Hifg |

LY Mox: Marks o A

POISiNG _ NondEh = A6 or = QUYy -lof
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10. An electronic device makes a becp after every 60 seconds. Another device makes a beep
after every 62 seconds. They beep together at 10 a.m. for the first time, then find the time
when they beep together at the earliest.

T TERIS IUEU TUE 60 VFUE UvaN UH T a9 & | §H IUH UHH 62
VHUS v HE ST & | OEelt IR A {1 STHT 10 am. T T H Hiet a9 €, @ 9%
YT WY A HIWT ST 8 Th JE el a9
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Part-B Marks ; 25
WAT - _ A : 25

: Attempt all questions. Answer the following questions in 50 words each. Each question
carries 5 marks.

Tl ue & I | T w1 I 50-50 I H € ) v W & 5 i Prifia ¥

11.

J, K, L, M, N and O are the members of a family. Professions of all members are
different. If

(i) Family has two married couples.

(i) ‘M’ is a doctor and his wife is an engineer

(ii1) ‘)’ is grand daughter of ‘O’ and sister of ‘1.°.

(iv) ‘K’ is grand father of ‘1.” and is married to a teacher. .

(v) ‘L’ is aclerk and his mother is ‘N”.
Then, who is the wife of ‘“M* ?

J,K, L, M, N 3 O 0% tiaR & 95ed & | 9t 9ewdi & e fir=r § 1 3fg

(i) WRER T § foarfed 3 € |

(i) ‘M’ U Tafeea® & 3T IHD! Uit U SR T |

Gii) ‘7, B oA T L A AL '

(iv) ‘K’, ‘L’ & 3T & o S9! IRl U TeATue € g5 ¢ | ,

(v) ‘L’ U o7 & O I HIa N* & + = Mk
T M AR A BT - & tovrd . femos
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12. lflane"—% land)—l—);i:—oese, then prove z;n¢=;—i
xsin ¢ y sin 0 sin@ x
% tan 6 = I—xcose’ an ¢ = l—ycose’a}mmsind)_y
San - 2 Sn th T y Sin.®
o = g e ]
: \"’L("QAQ Jen- @ =Y Con O
G —— _ Z Sing ‘@I: 7 8ne
&0 h
-2 cos F P ) (e
gff)Q) - —bn&?{r—xc@» g) } Sin® = —hns’j ;,gc,@@)
x g ‘7 // 0 J
n "M Co)o.)
Af no g g/é( r:,}u@n,ﬂ A
e ﬂ o (=P 3,',«17@"_% 7
- g

13. N is a three digit number that is a multiple of 7, what is the probability that it will be a
multiple of 5 also ?

N = 3fehl Y 7 & U B B T @ A ITF 5 H Al O & H Fan wieehat § 2
vt ' 1 M'.‘-}g

| Y
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14.

“1000 @ arfE 7 @, T TEG T i T T A R 5 R i S W SNee 3, 7 3

What is the largest integer not exceeding 1000 which leave remainder 3 when divided by
5, remainder 5 when divided by 7, and remainder 7 when divided by 9 ?

i 3 o wiuwer 5 9o 9 | faufad =@ W Avws 7 @A S 2

The Fm_mm_b&_;laxgﬂ}_lyiﬁ_bdw
Cﬂ'b $,9,9)

Ler = $X1X%9

I~
&
’

=~ QI j:’;faizL
ao rhuuqma‘b Xy = SIX3 Ny
— () o
= 778

AD_’_“MM_MB%}_;Q%VQ FP) QUTHS

= A3

ANy =943

135.

Mr. X invested money in two schemes A and B offering compound interest 5% and 10%
per annum respectively. If the total amount of interest accrued through both schemes

together in two years was ¥ 2075 and the total amount invested was ¥ 15,000. Find the
amount invested in scheme A.

sta X A 2 disFneit A it B # wa faw fFan it e 5% i 10% viaey awefg s
TR ®t o | 3 @ a6t @ ag A Qe gRT o1 SISt s S At ¥ 2075 ot 9o
faw fomar ey w91 215,000 &1 1 Q9T A A fEw Y ofen s SRR

ok o amsmk  douvaded Jn ASehoma he %

%o amemy Jnuopted an N Ree e = 1S WO =%
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Part-C Marks : 20
HT - 35 20
Note : Attempt all questions. Answer the following questions in 100 words each. Each question
carries 10 marks.

e Wity F a1 B uwEt @ 39T 100-100 IS 6 T | weds uvs & 10 3w Fiia €

16. Two tapes A and B can fill atank in 5 hrs and 20 hrs respectively alone. If both taps are
opened then it takes 30 minutes more to fill the tank completely due to a hole in the tank.
If tank is completely filled then how much time (in hrs) will it take to get tank empty due
to drain water from hole ? '

T A6l A 3R B U Sl @l HAY: 5 HS w1 20 B T et W WA & | A A AT @i I
< A St A T B9 & HRUT T I 9 A 30 e ofiT s @ € |
R @i g @ at WA T | AR T F Frober W @ F @It g 9 a1 §9

(62t =) = 2
A Gon W\ '—\an\‘q N3 heo L
S
L U @anE w 1 hvso L
9

(v N i I 1 [ 1
So, Seth Can W Theee T2 ot
£ Qﬂ 20 L’

=306
So, o = 3363, &o-‘ﬁyﬁém\\b‘t‘i{h\”\ﬂ;"
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17. In an election 10% of the voters on the voter’s list did not cast their votes and 60 voters
cast their ballot papers blank. There were only two candidates. The winner was supported
by 47% of all voters in the list and got 308 votes more than his rival. Find the number of
voters on the voter list. -

T T TR e E § 10% Tewarst 3 ST o T8 e qor 60 e % W v foa
A | T8 W e 31 IHEER & | fosiar s waRian YH 1§ ¥ 47% Sagrarett $ 79d= e e

wmuﬁaﬁ@m namR Wqﬁﬁ V&mﬂﬁﬁﬁ'&

(N
= 10 oud net Qo.sl— \m}e =" Jo
Ie'o
Go \L&EZQ_CQQ'_}:QQIAK_PQ,};@A—
&m' he validl Vel °lmJlo_A- K- 1D o o 6.0
Ay
—_— q op Pl >N
= — X610
}0
Usanneye S@} = 97 o4  \adea Cnosenﬁok
! —
& N L TN \o_\l 3@93 \!:ﬂ:l-u — -—CL'Z"("&O%
<+ 7 100 \efes
o3 o = So T

=FopfIL—gry
= (60~ '
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- ) o7 - T /O_U
- - . 36900
: g G
x = G K60
T T o~ 7 P :
oo o'b sl = 50 W
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(Unit-I1) (70 Marks)

@fve-11) (70 %)
Part— A Marks : 10
| 3IE 10

Note : Attempt all questions. Answer the following questions in 15 words each. Each question
carries 2 marks.

Az: i U F I | By uvEl o I 15-15 vl 4 T ) e v & 2 i iR &

1. A light and a heavy body have same momentum. Which one will have greater kinetic
energy ?

T EoTh! & U R o 1 Fan quF & 1 370 | foeaet nfaw St arferes @t o

vanelie  Orewon  in  Yne MQA%ATJFQM_
Y % \]' 7

Medion  a) o bady, .

2. How does the density of nuclear matter depends on size of nucleus ? Does the density of
atom also follows the same rule ? ‘
Al e W1 T AT % AR O RRY TR PRI S § 9 9 a0 1 ueed ot 39

o 1 T A § 2

= BuYy Heo p&Q_m&ij n—pD abem dpsy ne}

%

LGQ_Un.D amg  S,lg
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3. What do you understand by “Joule-Thomson effect™ ?

STA-GTHE wiE | Y w1 g9 § 2
p s rectyy Tnomion Raid thal
Narelo i d s o an ﬁ-!-—rrwx} '(’_mseulnk

 olacbieed olses & olichg gﬁ
ﬁl)‘@JL\ir\b e g-\sa}.{-lij_l]. 0

[~% -
1A RS
ot bl et

1

4. Write the name of causal organism and vector of ‘Dengue fever’.

] @I & FRF AT T4 3qF A6 H AW ARGy |

5. What are umbrella species 7 Give an example of umbrella species.

B YSITTadr o & 7 99 USTiT & Uah 391801 SifAT |
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Part-B Marks : 20
LU 3w 20
Note : Attempt all questions. Answer the following questions in 50 words each. Each question
carries 5 marks.

M. wlt uvE F 3 T 1 1 el @ 39T 50-50 vl § ¥ 1wl ue & § i fwifa &

6.  Write Kepler's law of planetary motion.

wE i & e & i @t fatla

:l—-‘- Q“Lugl‘n:& ‘H\Au J\nu) (’l"_ (DLQ.QEJQA.LT—‘
\ O |

!\_‘sl—;m
j- (ij (\'p OTBJ)' -
N

0 LUI0AQ . g ] \ a1 Ta S VUL ' } 3
hadussan  Som & plongy ] PRoewd i

7. The concentration of Hydrogen ion in a sample of sofl drink is 4.0 x 107 M. What is its
pH ? (log,,2 = 0.301)

o Tt & T H Eegie STEH 6 T 4.0 x 1073 M € | FWH pH F40 8 ?
(log,42 = 0.301)
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8. Write a note on genetically engineered insulin,

e SR SR T feeoh fefa |

%\ ! !! !~ l ] m 1 ! <

Zl'i; 3N 9 Meye ohbocdive, madieine
OV

4o Cerlrsd Qum?FQAL&_J@_-L\ﬂn\amL

\ A N
bﬂ‘a%eﬁ 34 8 A\ /A0 NG U)W S FaNy)

9. Enhist various trophic levels in an ecosystem and give suitable example of each trophic
level.

w uiiifefas &3 & fafir ot =R = geites ST @ g 9 T & shaa e S |
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Note : Attempt all questions. Answer the following questions in 100 words each. Each question
carries 10 marks.

Az ot g & IS | T o SR 100-100 WS F ) 9ldE 0w F 10 35w PreiRa €

10. What do you understand with communication system ? Give block diagram of
communication system and explain its elements.

Ga frepr @ 3y o g € 9 AR e o e 39 g0 3 Seae) i GHeRT |

C ora 1A = O, VNJ\M—-—-_QQJ:SJAB%&QN)

Serdpr
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veerck ol !Mm verchal) v

11. Distinguish between conduttor. semi-conductor and insulator on the basis of band theory

of solid.
I ¥ 3 Fagr & YR O GO, AETTHD d HITH T 9 Dt |

EH— Silven ,. DA Qe _Tamn

—=
Q\’\L\L&Q;l\a«; - M “(J/\O_ odamands  Lshich axe
— hod Condimiey o koot @w

)
O\QL‘J\R(‘.‘L‘]A i Oﬂ_-—_HQﬁ:‘Q)‘-L_,_g:\nDL_LEL.
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12.  What are chromosomal disorders in human beings ? Write causes and symptoms of any
two such disorders.

Hat # ORE faer = At € 2 39 USR & fl qt faert % srer 9w fatew |
C hawmoSomal Aiyasdest  sn  huwnan

— ik byt

of 2 Mo Qﬂb ¢ heno Lermes

X9 \Q’_Ll
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13. Discuss the Breed Improvement Programme undertaken by the Department of Animal
Husbandry, Government of Rajasthan.

T TR o T FamT gRy = S @ Tt YU sy 6t fFaamr S |

JOVS Qoi;qg\han CWEA_ 3}..“!» W Sale GSD?
~ —_—

- V)
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(Unit-IID) (65 Marks)
@fe-110) (65 )
Part— A Marks : 10

WOT — 3 w10

Note : Attempt all questions. Answer the following questions in 15 words each. Each question
carries 2 marks.

qMZ: WU H IS | T U F I A5-15 TR H T | uSE 0 & 2 9 Fuifia €

l. What are the meteoric lakes ?

I A T E 2

(a ke gmgrﬂ o STORR o hﬂéd% gz‘ ralion e
@ dhe  eonkh  udhich  Cazales ng%n_

Ceete € ho e Al @( Yaden  on -nr\g_ul

2. What is Epicentre ?

s R 8 27
hE! 1y the ”‘Dmn\- . he Eﬂ'zr\-"\ whers

oarfhquale  ix l;LL b{“} Hene gt

Ak absuse  larut o) Hhe  Qaalhguakel
J V) 0 |

o o) gt
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3. Which are the areas of India, receive winter rain ?

e & P B 837 videwsetT a6t wd S € 2
Nedh & dadh  toalern Qxeas ol Tndiq
LA xl-\-\'\LMM £ unl-QJ’\ )-ko‘uy n(l I LG (s M—Lu\n

Asnlunkant o n rm%\-a./\/\o_a\un S;Ag__ﬁ:_
:lm\r Shuams -
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4.  Write the names of major non-metallic minerals of Rajasthan.
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5.  What are the male and female literacy rates in Rajasthan as per Census-2011 ?
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Paper-11

Part-B

Hr-49

Note : Attempt all questions. Answer the following questions in 50 words each. Each question
carries 5 marks.
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Explain in brief the location, names and importance of the great lakes of North America.
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7. Describe the “Bshw’ type of climate of India.
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8.  Discuss the impact of La-Nina on Indian Monsoon.
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9. Discuss in brief the types and distribution of building stones in Rajasthan.
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10.  Write aEQut the distribution and industrial uses of lignite coal in Rajasthan.
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Part—C Marks : 30
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Note : Attempt all questions. Answer the following questions in 100 words each. Each question
carries 10 marks.
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11.  Explain the divisions of Geological Time Scale.
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12.

Divide coastal plains of India into sub-divisions and explain their characteristics.
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13. Describe the habitat. economy and society of Bhil tribe in Rajasthan.
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